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.     Starter    .

1) Draw the vector 
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2) Reflect the shape in line. Label object and image
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3) Rotate the rectangle around point P by

     a) 90o          b) 270o            Mark point A’ and A”
4) Plot ABCD    

    A=(1,3)  B=(-1,1)  C=(0,-1)  D=(2,1)
    Reflect ABCD in the y axis.

    Label the image.    Name the shape.

    Rotate both object and image 180o about (0,0).

.     Enlargement    .

Skills: Identify similar figures and draw the image after enlargement
Similar figures are the same shape, and are only different in size.


The scale factor tells us how many 

times bigger or smaller something is.

We can use the scale factor to calculate unknown lengths.

Example:

1) Which letters are similar? 

A        A        A        A         A              A    

2) Find the scale factor 

         using measuring

3)  What other values could the scale factor be?


4) Use the scale factor K = 1.5
Calculate the unknown lengths

(Drawing not to scale)

.     Drawing Enlargements A    .

Skills: 

Draw the image after enlargement

Find the centre of enlargement
The centre of enlargement is the point where the enlargement ‘grows’ from.

To find the centre of enlargement rule lines through corresponding points on the image and object.      e.g. A and A’ 

Where these lines cross is the centre of enlargement



.     Drawing Enlargements B    .

The scale factor is how many times larger the image is and how many times the distance to the centre of enlargement is increased.
Example: Scale factor K=3 means image is 3x as big and 3x distance to centre of enlargement C

The position of the centre of enlargement influences the image position.

Enlarge each with a scale factor k = 2

.     Invariance    .
After an enlargement what is invariant?

...and what changes?
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Scale factor   =   Image length
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